ROOMS

TOGO»>

Assembly Instructions

GLOB 7780 - 3B SWIVEL STOOL - BLACK
GLOB 7780 - 3W SWIVEL STOOL - WHITE
GLOB 7780 - 3G SWIVEL STOOL - GRAY
GLOB 7780 - 3R SWIVEL STOOL - RED

SKU# 43677802
SKU# 43677814
SKU# 43677826
SKU# 43677838

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts that may
come loose inside the carton during shipment, identify and count all parts and compare with the parts list below.

Hardware Pack Location (s) :

Swivel Stool - Black
Swivel Stool - White
Swivel Stool - Gray
Swivel Stool - Red

SKU# 43677802
SKU# 43677814
SKU# 43677826
SKU# 43677838

(DO NOT TIGHTEN ALL BOLTS BEFORE FULLY ASSEMBLY )

NO| PARTS LIST QTY
a %% Cushion Seat Ipc
b = Front Leg 2pcs
c & Back Leg 2pcs
d @ Bottom Frame Ipc

STEP HARDWARE LIST QTY

05/16" x 18 x 2 - 1/4" Bolt

1 ) D)iﬁli))»@)») ?5/16" x 2mmT Spring washer 4pcs
05/16" x 2mmT Flat washer
05/16" x 18 x 2 - 1/4" Bolt

2 ), .))ﬁj];))))@)») ?5/16" x 2mmT Spring washer 4pcs
©5/16" x 2mmT Flat washer
01/4"x20x 1 - 1/4" Bolt

3 @1/4" x 2mmT Spring washer 2pcs
01/4" x 2mmT Flat washer
01/4"x20x1-1/4" Bolt

4 @1/4" x 2mmT Spring washer 2pcs
01/4" x 2mmT Flat washer

5 &) 25 x 12mm Plastic cap 4pcs

M 4mm x 57mm Allen key Ipc

Page 1 of 2




ROOMS

Assembly Instructions

GLOB 7780 - 3B SWIVEL STOOL - BLACK SKU# 43677802
GLOB 7780 - 3W SWIVEL STOOL - WHITE SKU# 43677814
To GO > GLOB 7780 - 3G SWIVEL STOOL - GRAY SKU# 43677826
GLOB 7780 - 3R SWIVEL STOOL - RED SKU# 43677838

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts that may
come loose inside the carton during shipment, identify and count all parts and compare with the parts list below.

STEP 3

Y

A

A

ASSEMBLY COMPLETE

MADE IN VIET NAM
Page 2 of 2




